

## A NOTE ON GENERALIZED DEGENERATE FROBENIUS-EULER-GENOCCHI POLYNOMIALS

DMITRIY DOLGY, WONJOO KIM, AND HYUNSEOK LEE

**ABSTRACT.** We consider Frobenius-Genocchi polynomials and introduce their generalization - Frobenius-Euler-Genocchi polynomials, the degenerate and generalized versions of the last and derive some important identities. In addition, we introduce the higher-order Frobenius-Euler-Genocchi polynomials of order  $\alpha$  and study their properties involving the generalized falling factorials, the degenerate Euler polynomials of order  $\alpha$  and degenerate Stirling numbers of the second kind.

### 1. INTRODUCTION

Investigations for various degenerate versions of some special numbers and polynomials have drawn the attention of many mathematicians in recent years, which were initiated by Carlitz's work in [4,5]. Many interesting results were obtained by exploiting different tools such as generating functions, combinatorial methods, p-adic analysis, umbral calculus, differential equations, probability theory, operator theory, analytic number theory and quantum physics (see [6, 8–18]). Belbachir et al. introduced the Euler–Genocchi polynomials in [2] and Goubi generalized them to the generalized Euler–Genocchi polynomials of order  $\alpha$  in [7]. Here we introduce degenerate versions for both of them. Namely, we introduce the generalized degenerate Frobenius-Euler–Genocchi polynomials as a degenerate version of the Frobenius-Euler-Genocchi polynomials. In addition, we introduce their higher-order version, namely the generalized degenerate Frobenius-Euler–Genocchi polynomials of order  $\alpha$ , as a degenerate version of the generalized Frobenius-Euler–Genocchi polynomials of order  $\alpha$ . The aim of this paper is to study certain properties and identities involving these polynomials, the generalized falling factorials, the degenerate Frobenius-Euler polynomials of order  $\alpha$ . The novelty of this paper is that it is the first paper that introduces the generalized degenerate Frobenius-Euler–Genocchi polynomials and the generalized degenerate Frobenius Euler–Genocchi polynomials of order  $\alpha$ , as degenerate versions of the polynomials introduced earlier in [2,3,8–17].

The outline of this paper is as follows. In Section 1, we recall the degenerate exponentials, the degenerate Euler polynomials, the degenerate Euler polynomials of order  $\alpha$ , and the degenerate Genocchi polynomials of order  $\alpha$ . Section 2 is the main result of this paper. We introduce Frobenius-Genocchi polynomials, their degenerate version and generalized degenerate Frobenius-Euler-Genocchi polynomials as a generalization of both the degenerate Euler polynomials and the degenerate Genocchi polynomials. Then the generalized degenerate Frobenius-Euler–Genocchi polynomials of order  $\alpha$ , are introduced as a higher-order version of degenerate Frobenius-Euler–Genocchi. We deduce some expressions for them with a positive integer  $m$ . Then we observe certain relations between generalized degenerate Frobenius-Euler–Genocchi polynomials of order  $\alpha$  and the degenerate Euler polynomials of order  $\alpha$  and on this base degenerate Stirling numbers of the second kind.

In the rest of this section, we recall the facts that we need throughout this paper.

---

2010 *Mathematics Subject Classification.* 11B73; 11B83.

*Key words and phrases.* Euler polynomials, Frobenius polynomials, Genocchi polynomials, falling factorials, Stirling numbers of the second kind.

It is well known that the Euler polynomials are defined by

$$(1) \quad \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}$$

When  $x = 0$ ,  $E_n = E_n(0)$  are called Euler numbers.

The Genocchi polynomials are given by

$$(2) \quad \frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}$$

When  $x = 0$ ,  $G_n = G_n(0)$  are called Euler numbers.

Note that  $G_n \in \mathbb{N}$ .

For any nonzero  $\lambda \in \mathbb{R}$ , the degenerate exponentials are defined by

$$(3) \quad e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad e_{\lambda}(t) = e_{\lambda}^1(t), \quad (\text{see [8]})$$

where the generalized falling factorials are given by

$$(4) \quad (x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n-1)\lambda), \quad (n \geq 1).$$

Let  $\log_{\lambda}(t)$  be the compositional inverse function of  $e_{\lambda}(t)$  such that  $\log_{\lambda}(e_{\lambda}(t)) = e_{\lambda}(\log_{\lambda} t) = t$ .

It is called the degenerate logarithm and is given by (see [13])

$$(5) \quad \log_{\lambda}(1+t) = \sum_{k=1}^{\infty} \frac{\lambda^{k-1} (1)_{k, \frac{1}{\lambda}}}{k!} t^k = \frac{1}{\lambda} \left( (1+t)^{\lambda} - 1 \right)$$

Note that  $\lim_{\lambda \rightarrow 0} \log_{\lambda}(1+t) = \log(1+t)$  and  $\lim_{\lambda \rightarrow 0} e_{\lambda}(t) = e^t$ .

For non-negative integers  $n \geq 0$ , the degenerate Stirling numbers of the second kind are introduced by Kim–Kim as

$$(6) \quad (x)_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n,k) (x)_k, \quad (\text{see [12, 14]}).$$

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - n + 1)\lambda$ ,  $(n \geq 1)$ .

For  $u \in \mathbb{R}$  with  $u \neq 1$  the Frobenius-Euler polynomials are defined by the generating functions to be

$$(7) \quad \frac{1-u}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} H_n(x|u) \frac{t^n}{n!}, \quad (\text{see [12, 14]}).$$

If  $x = 0$ ,  $H_n(u) = H_n(0|u)$  are called Frobenius-Euler numbers.

If  $u = -1$  then

$$(8) \quad \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} H_n(x|-1) \frac{t^n}{n!}.$$

From here and (1) we conclude

$$(9) \quad H_n(x|-1) = E_n(x).$$

If  $x = 0$  then  $H_n(-1) = E_n$ .

Recently, the degenerate Frobenius-Euler polynomials were introduced by the generating function as

$$(10) \quad \frac{1-u}{e_{\lambda}(t) - u} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} h_{n,\lambda}(x|u) \frac{t^n}{n!}, \quad (\text{see [1, 8, 9]}).$$

If  $x = 0$ ,  $h_{n,\lambda} = h_{n,\lambda}(0|u)$  are called degenerate Frobenius-Euler numbers.

Let  $u = -1$  then

$$(11) \quad \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} h_{n,\lambda}(x| -1) \frac{t^n}{n!}.$$

Carlitz in [4] introduced a degenerate version of Euler polynomials called degenerate Euler polynomials as

$$(12) \quad \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} \varepsilon_{n,\lambda}(x) \frac{t^n}{n!}.$$

If  $x = 0$  then  $\varepsilon_{n,\lambda} = \varepsilon_{n,\lambda}(0)$  are called degenerate Euler numbers.

From (11) and (12) we get

$$(13) \quad h_{n,\lambda}(x| -1) = \varepsilon_{n,\lambda}(x).$$

If  $x = 0$  then  $h_{n,\lambda}(0| -1) = h_{n,\lambda}(-1) = \varepsilon_{n,\lambda}(0) = \varepsilon_{n,\lambda}$ .

The degenerate higher-order Euler polynomials of the order  $\alpha$  are given by the generating function as

$$(14) \quad \left( \frac{2}{e_\lambda(t) + 1} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} \varepsilon_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}, \text{ (see [8–12]).}$$

If  $x = 0$ ,  $\varepsilon_\lambda^{(\alpha)} = \varepsilon_\lambda^{(\alpha)}(0)$  are called degenerate Euler numbers of order  $\alpha$ .

Degenerate form of Genocchi polynomials is given by the generating function as

$$(15) \quad \frac{2t}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda}(x) \frac{t^n}{n!}.$$

If  $x = 0$  then  $G_{n,\lambda} = G_{n,\lambda}(0)$  are called degenerate Genocchi numbers of order  $\alpha$ .

The degenerate higher-order Frobenius-Euler polynomials of the order  $\alpha$  are given by the generating function as

$$(16) \quad \left( \frac{1-u}{e_\lambda(t) - u} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} h_{n,\lambda}^{(\alpha)}(x|u) \frac{t^n}{n!}, \text{ (see [8–12]).}$$

If  $x = 0$ ,  $h_{n,\lambda}^{(\alpha)}(u) = h_{n,\lambda}^{(\alpha)}(0|u)$  are called degenerate Frobenius-Euler numbers of order  $\alpha$ .

For  $u = -1$  we get

$$(17) \quad \left( \frac{1-u}{e_\lambda(t) - u} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} h_{n,\lambda}^{(\alpha)}(x| -1) \frac{t^n}{n!} \text{ and } h_{n,\lambda}^{(\alpha)}(x| -1) = \varepsilon_{n,\lambda}^{(\alpha)}(x).$$

## 2. GENERALIZED DEGENERATE FROBENIUS-EULER-GENOCCHI POLYNOMIALS

We define Frobenius-Genocchi polynomials by generating function to be

$$(18) \quad \frac{t(1-u)}{e^t - u} e^{xt} = \sum_{n=0}^{\infty} FG_n(x|u) \frac{t^n}{n!}.$$

When  $x = 0$ ,  $FG_n(u) = FG_n(0|u)$  are called Frobenius-Genocchi numbers.

In particular, if  $u = -1$ , we get

$$(19) \quad \sum_{n=0}^{\infty} FG_n(x| -1) \frac{t^n}{n!} = \frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}.$$

From here

$$FG_n(x| -1) = G_n(x).$$

If  $x = 0$ , then

$$(20) \quad FG_n(0| - 1) = FG_n(-1) = G_n(0) = G_n.$$

Note that from (18),  $FG_0(x|u) = 0$ .

Observe that

$$\begin{aligned} \frac{1-u}{e^t-u} e^{xt} &= \frac{1}{t} \sum_{n=1}^{\infty} FG_n(x|u) \frac{t^n}{n!} \\ &= \frac{1}{t} \sum_{n=0}^{\infty} FG_{n+1}(x|u) \frac{t^{n+1}}{(n+1)!} \\ &= \sum_{n=0}^{\infty} \frac{FG_{n+1}(x|u)}{n+1} \frac{t^n}{n!}. \end{aligned}$$

$$(21)$$

From (7) and (21) we obtain

$$(22) \quad H_n(x|u) = \frac{FG_{n+1}(x|u)}{n+1}.$$

For integer  $r \geq 0$ , we consider the generalization of Frobenius- Genocchi polynomials that we shall call Frobenius-Euler-Genicchi polynomials (or Frobenius-Euler r-Genicchi polynomials). They are defined by generating function as

$$(23) \quad \frac{t^r(1-u)}{e^t-u} e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x|u) \frac{t^n}{n!}.$$

When  $x = 0$ ,  $B_n^{(r)}(u) = B_n^{(r)}(0|u)$  are called Frobenius-Euler-Genocchi numbers.

In particular,  $B_n^{(r)}(x|u) = H_n(x|u)$ ,  $B_n^{(1)}(x|u) = FG_n(x|u)$ .

Note that  $B_0^{(r)}(x|u) = B_1^{(r)}(x|u) = \dots = B_{r-1}^{(r)}(x|u) = 0$ .

Introduce degenerate Frobenius-Genocchi polynomials by generating function to be

$$(24) \quad \frac{t(1-u)}{e_\lambda(t)-u} e_\lambda^x = \sum_{n=0}^{\infty} FG_{n,\lambda}(x|u) \frac{t^n}{n!}.$$

From (24), it follows  $FG_{0,\lambda}(x|u) = 0$ .

If  $x = 0$ , then  $FG_{n,\lambda}(u) = FG_{n,\lambda}(0|u)$  are called degenerate Frobenius-Genocchi numbers.

Note that

$$(25) \quad \lim_{\lambda \rightarrow 0} h_{n,\lambda}(x|u) = H_n(x|u), \quad \lim_{\lambda \rightarrow 0} FG_{n,\lambda}(x|u) = FG_n(x|u).$$

Consider the chain of equalities

$$\begin{aligned} \sum_{n=0}^{\infty} h_{n,\lambda}(x|u) \frac{t^n}{n!} &= \frac{1-u}{e_\lambda(t)-u} e_\lambda^x(t) = \frac{1}{t} \sum_{n=0}^{\infty} FG_{n,\lambda}(x|u) \frac{t^n}{n!} = \frac{1}{t} \sum_{n=1}^{\infty} FG_{n,\lambda}(x|u) \frac{t^n}{n!} \\ &= \frac{1}{t} \sum_{n=0}^{\infty} FG_{n+1,\lambda}(x|u) \frac{t^{n+1}}{(n+1)!} = \sum_{n=0}^{\infty} \frac{FG_{n+1,\lambda}(x|u)}{n+1} \frac{t^n}{n!}. \end{aligned}$$

$$(26)$$

From the latter, comparing coefficients in the first and the last expressions of (26), we get

$$(27) \quad h_{n,\lambda}(x|u) = \frac{FG_{n+1,\lambda}(x|u)}{n+1}.$$

Introduce the generalization of degenerate Frobenius-Genocchi polynomials as

$$(28) \quad \frac{t^r(1-u)}{e_\lambda(t)-u} e_\lambda^x(t) = \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!},$$

where  $r \geq 0, r \in \mathbb{Z}$ .

Polynomials  $B_{n,\lambda}^{(r)}(x|u)$  defined by generating function (28) are called generalized degenerate Frobenius-Euler-Genocchi polynomials.

If  $x = 0, B_{n,\lambda}^{(r)}(u) = B_{n,\lambda}^{(r)}(0|u)$  are called generalized degenerate Frobenius-Euler-Genocchi numbers.

If  $u = -1$ , then

$$(29) \quad \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|-1) \frac{t^n}{n!} = \frac{2t^r}{e_\lambda(t)+1} e_\lambda^x(t) = \sum_{n=0}^{\infty} A_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}.$$

From here, we get the correspondence  $B_{n,\lambda}^{(r)}(x|-1) = A_{n,\lambda}^{(r)}(x)$ , where  $A_{n,\lambda}^{(r)}(x)$  are Frobenius-Euler polynomials defined in [12].

For generalized degenerate Frobenius-Euler-Genocchi polynomials, we have

$$(30) \quad \begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!} &= \frac{t^r(1-u)}{e_\lambda(t)-u} e_\lambda^x(t) \\ &= \sum_{l=0}^{\infty} B_{l,\lambda}^{(r)}(u) \frac{t^l}{l!} e_\lambda^x(t) \\ &= \sum_{l=0}^{\infty} B_{l,\lambda}^{(r)}(u) \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} B_{l,\lambda}^{(r)}(u) (x)_{n-l,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

Therefore, by comparing coefficients in both sides of (30), we get the following theorem.

**Theorem 1.** For  $r \geq 0$  with  $r \in \mathbb{Z}$ , we have

$$B_{n,\lambda}^{(r)}(x|u) = \sum_{l=0}^n \binom{n}{l} B_{l,\lambda}^{(r)}(u) (x)_{n-l,\lambda}.$$

Then, we get

$$(31) \quad \begin{aligned} \sum_{n=0}^{\infty} \varepsilon_{n,\lambda}(x) \frac{t^n}{n!} &= \frac{1}{t^r} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|-1) \frac{t^n}{n!} \\ &= \sum_{n=r}^{\infty} B_{n,\lambda}^{(r)}(x|-1) \frac{t^{n-r}}{n!} \\ &= \sum_{n=0}^{\infty} B_{n+r,\lambda}^{(r)}(x|-1) \frac{t^n}{(n+r)!} \\ &= \sum_{n=0}^{\infty} B_{n+r,\lambda}^{(r)}(x|-1) (n+r)_r \frac{t^n}{n!}. \end{aligned}$$

Comparing coefficient from the left and right sides of the last equality, we obtain

**Theorem 2.** For  $r \geq 0$  with  $r \in \mathbb{Z}$ , we have

$$B_{n+r,\lambda}^{(r)}(x| - 1) = \frac{1}{(n+r)_r} \varepsilon_{n,\lambda}(x).$$

Observe that

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x+1|u) \frac{t^n}{n!} &= \frac{t^r(1-u)}{e_\lambda(t) - u} e_\lambda^{x+1}(t) \\ &= \frac{t^r(1-u)}{e_\lambda(t) - u} e_\lambda^x(t) e_\lambda(t) \\ &= \sum_{l=0}^{\infty} B_{l,\lambda}^{(r)}(x|u) \frac{t^l}{l!} e_\lambda(t) \\ &= \sum_{l=0}^{\infty} B_{l,\lambda}^{(r)}(x|u) \frac{t^l}{l!} \sum_{k=0}^{\infty} (1)_{k,\lambda} \frac{t^k}{k!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} B_{l,\lambda}^{(r)}(x|u) (1)_{n-l,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{32}$$

Comparing coefficients in both sides of this expression, we get the following

**Theorem 3.** For  $r \geq 0$  with  $r \in \mathbb{Z}$ , we have

$$B_{n,\lambda}^{(r)}(x+1|u) = \sum_{l=0}^n \binom{n}{l} B_{l,\lambda}^{(r)}(x|u) (1)_{n-l,\lambda}.$$

Observe that

$$\begin{aligned} \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} &= \frac{1}{t^r} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!} \left( \frac{e_\lambda(t) - u}{1-u} \right) \\ &= \frac{1}{1-u} \frac{1}{t^r} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!} e_\lambda(t) - \frac{u}{1-u} \frac{1}{t^r} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!} \\ &= \frac{1}{1-u} \sum_{l=0}^{\infty} B_{l+r,\lambda}^{(r)}(x|u) \frac{t^l}{(l+r)!} \sum_{k=0}^{\infty} (1)_{k,\lambda} \frac{t^k}{k!} - \frac{u}{1-u} \sum_{n=0}^{\infty} B_{n+r,\lambda}^{(r)}(x|u) \frac{t^n}{(n+r)!} \\ &= \frac{1}{1-u} \sum_{n=0}^{\infty} \left( \sum_{l=0}^{\infty} \binom{n+r}{l+r} B_{l+r,\lambda}^{(r)}(x|u) \frac{n!}{(n+r)!} \right) \frac{t^n}{n!} - \frac{u}{1-u} \sum_{n=0}^{\infty} B_{n+r,\lambda}^{(r)}(x|u) \frac{n!}{(n+r)!} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \frac{1}{1-u} \sum_{l=0}^n \binom{n+r}{l+r} B_{l+r,\lambda}^{(r)}(x|u) (1)_{n-l,\lambda} \frac{1}{(n+r)_r} - \frac{u}{1-u} B_{n+r,\lambda}^{(r)}(x|u) \frac{1}{(n+r)_r} \right) \frac{t^n}{n!}. \end{aligned} \tag{33}$$

Therefore, we arrive at the following output.

**Theorem 4.** For  $r \geq 0$  with  $r \in \mathbb{Z}$ , we have

$$(x)_{n,\lambda} = \frac{1}{1-u} \frac{1}{(n+r)_r} \left( \sum_{l=0}^n \binom{n+r}{l+r} B_{l+r,\lambda}^{(r)}(x|u) (1)_{n-l,\lambda} - u B_{n+r,\lambda}^{(r)}(x|u) \right).$$

Observe now

$$\begin{aligned}
 \sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x|u) \frac{t^n}{n!} &= \frac{t^r(1-u)}{e_\lambda(t)-u} e_\lambda^x(t) = \frac{t^r(1-u)}{e_\lambda^m(t)-u^m} \sum_{k=0}^{m-1} e_\lambda^{x+k}(t) u^{m-1-k} \\
 &= \frac{(mt)^r(1-u)}{e_{\frac{\lambda}{m}}(mt)-u^m} \frac{1}{m^r} \sum_{k=0}^{m-1} e_{\frac{\lambda}{m}}^{\frac{x+k}{m}}(mt) u^{m-1-k} \\
 &= \frac{1}{m^r} \frac{1}{1+u+u^2+\dots+u^{m-1}} \sum_{k=0}^{m-1} \frac{(mt)^r(1-u^m)}{e_{\frac{\lambda}{m}}(mt)-u^m} e_{\frac{\lambda}{m}}^{\frac{x+k}{m}}(mt) u^{m-1-k} \\
 &= \frac{1}{m^r} \frac{1}{1+u+u^2+\dots+u^{m-1}} \sum_{k=0}^{m-1} \sum_{n=0}^{\infty} B_{n,\frac{\lambda}{m}}^{(r)}\left(\frac{x+k}{m} \middle| u^m\right) m^n \frac{t^n}{n!} u^{m-1-k} \\
 &= \sum_{n=0}^{\infty} \left( m^{n-r} \frac{1}{1+u+u^2+\dots+u^{m-1}} \sum_{k=0}^{m-1} B_{n,\frac{\lambda}{m}}^{(r)}\left(\frac{x+k}{m} \middle| u^m\right) u^{m-1-k} \right) \frac{t^n}{n!}.
 \end{aligned}$$

(34)

Comparing coefficients in both sides of this equality, we get the following result.

**Theorem 5.** For  $r \geq 0$  with  $r \in \mathbb{Z}$ , we have

$$B_{n,\lambda}^{(r)}(x|u) = m^{n-r} \frac{1}{1+u+u^2+\dots+u^{m-1}} \sum_{k=0}^{m-1} B_{n,\frac{\lambda}{m}}^{(r)}\left(\frac{x+k}{m} \middle| u^m\right) u^{m-1-k}.$$

For nonzero  $\alpha \in \mathbb{C}$ , and  $r \in \mathbb{Z}$  with  $r \geq 0$ , we consider the generalized degenerate Frobenius–Euler–Genocchi polynomials of order  $\alpha$  which are given by

$$(35) \quad t^r \left( \frac{1-u}{e_\lambda(t)-u} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} B_{n,\lambda}^{(r,\alpha)}(x|u) \frac{t^n}{n!}.$$

Note that  $B_{0,\lambda}^{(r,\alpha)}(x|u) = B_{1,\lambda}^{(r,\alpha)}(x|u) = \dots = B_{n,\lambda}^{(r-1,\alpha)}(x|u) = 0$ .

When  $x = 0$ ,  $B_{n,\lambda}^{(r,\alpha)}(u) = B_{n,\lambda}^{(r,\alpha)}(0|u)$  are called the generalized degenerate Frobenius–Euler–Genocchi numbers of order  $\alpha$ .

We mention here that these polynomials can be viewed as a special case of polynomials  $L_n^{(f,g,h)}$  defined by the generating function

$$(36) \quad f(t)g \circ h(t) = \sum_{n \geq 0} L_n^{(f,g,h)} \frac{t^n}{n!}.$$

which are recently studied by Goubi [7].

For this, one can take

$$(37) \quad f(t) = t^r e_\lambda^x(t), g(t) = t^a h(t) = \frac{1-u}{e_\lambda(t)-u}.$$

From (35), we get

$$(38) \quad B_{n,\lambda}^{(r,\alpha)}(x|u) = \sum_{k=0}^n \binom{n}{k} B_{n,\lambda}^{(r,\alpha)}(u)(x)_{n-k,\lambda} = \sum_{k=0}^n \binom{n}{k} B_{n-k,\lambda}^{(r,\alpha)}(u)(x)_{k,\lambda}.$$

Let  $\alpha = -m (m \in \mathbb{N})$ . Then, by (28)

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r,-m)}(x|u) \frac{t^n}{n!} &= \frac{t^r}{(1-u)^m} (e_\lambda(t) - u)^m e_\lambda^x(t) \\ &= \frac{t^r}{(1-u)^m} \sum_{k=0}^m (-1)^{m-k} \binom{m}{k} e_\lambda^{x+k}(t) u^{m-k} \\ &= \frac{t^r}{(1-u)^m} \sum_{k=0}^m (-1)^{m-k} \binom{m}{k} \sum_{n=0}^{\infty} (x+k)_{n,\lambda} \frac{t^n}{n!} u^{m-k} \\ &= \sum_{n=0}^{\infty} \frac{1}{(1-u)^m} \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} u^{m-k} (x+k)_{n,\lambda} \frac{t^{n+r}}{n!} \\ &= \sum_{n=0}^{\infty} \frac{1}{(1-u)^m} \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} u^{m-k} (x+k)_{n-r,\lambda} (n)_r \frac{t^n}{n!}. \end{aligned}$$

(39)

Therefore, by comparing coefficients in both sides of (39), we obtain the following theorem.

**Theorem 6.** For  $r \in \mathbb{Z}$  with  $r \geq 1$  and  $n \in \mathbb{N} \cup \{0\}$ , we have

$$B_{n,\lambda}^{(r,-m)}(x|u) = \frac{(n)_r}{(1-u)^m} \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} u^{m-k} (x+k)_{n-r,\lambda}.$$

When  $x = 0$ , we have

$$(40) \quad B_{n,\lambda}^{(r,-m)}(u) = \frac{(n)_r}{(1-u)^m} \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} u^{m-k} (k)_{n-r,\lambda}.$$

From (38) and (40), we have

$$\begin{aligned} B_{n,\lambda}^{(r,-m)}(x|u) &= \sum_{k=0}^n \binom{n}{k} B_{n-k,\lambda}^{(r,-m)}(u)(x)_{k,\lambda} \\ &= \sum_{k=0}^n \binom{n}{k} \frac{(n-k)_r}{(1-u)^m} \sum_{j=0}^m \binom{m}{j} (-1)^{m-j} u^{m-j} (j)_{n-k-r,\lambda} (x)_{k,\lambda} \\ &= \frac{1}{(1-u)^m} \sum_{k=0}^n \sum_{j=0}^m \binom{n}{k} \binom{m}{j} (-1)^{m-j} u^{m-j} (j)_{n-k-r,\lambda} (n-k)_r (x)_{k,\lambda}. \end{aligned}$$

(41)

By (35), we get

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}^{(r,\alpha)}(x|u) \frac{t^n}{n!} &= t^r \left( \frac{1-u}{e_\lambda(t) - u} \right)^\alpha e_\lambda^x(t) = t^r \sum_{n=0}^{\infty} h_{n,\lambda}^{(\alpha)}(x|u) \frac{t^n}{n!} \\ &= \sum_{n=r}^{\infty} h_{n-r,\lambda}^{(\alpha)}(x|u) \frac{n!}{(n-r)!} \frac{t^n}{n!} = \sum_{n=r}^{\infty} (n)_r h_{n-r,\lambda}^{(\alpha)}(x|u) \frac{t^n}{n!}. \end{aligned}$$

(42)

By comparing coefficients in both sides of (42), we arrive at the following result.

**Theorem 7.** For  $n, r \geq 0$  with  $n \geq r$ , we have

$$B_{n,\lambda}^{(r,\alpha)}(x|u) = (n)_r h_{n-r,\lambda}^{(\alpha)}(x|u).$$



In particular, for  $x = 0$ , we have

$$(43) \quad B_{n,\lambda}^{(r,\alpha)}(u) = (n)_r h_{n-r,\lambda}^{(\alpha)}(u).$$

By (38) and (43), we get

$$\begin{aligned} B_{n,\lambda}^{(r,\alpha)}(x|u) &= \sum_{k=0}^n \binom{n}{k} B_{n-k,\lambda}^{(r,\alpha)}(u) \cdot (x)_{k,\lambda} = \sum_{k=0}^{n-r} \binom{n}{k} B_{n-k,\lambda}^{(r,\alpha)}(u) \cdot (x)_{k,\lambda} \\ &= \sum_{k=0}^{n-r} \binom{n}{k} (n-k)_r h_{n-k-r,\lambda}^{(\alpha)}(u) \cdot (x)_{k,\lambda} = (n)_r \sum_{k=0}^{n-r} \binom{n-r}{k} h_{n-k-r,\lambda}^{(\alpha)}(u) \cdot (x)_{k,\lambda} \\ &= (n)_r (x)_{n-r,\lambda} + (n)_r \sum_{k=0}^{n-r-1} \binom{n-r}{k} h_{n-k-r,\lambda}^{(\alpha)}(u) \cdot (x)_{k,\lambda}. \end{aligned} \tag{44}$$

Therefore, by (44), we obtain the following theorem.

**Theorem 8.** For  $\alpha (\neq 0) \in \mathbb{C}$  and  $n, r \geq 0$  with  $n \geq r$ , we have

$$B_{n,\lambda}^{(r,\alpha)}(x|u) = (n)_r (x)_{n-r,\lambda} + (n)_r \sum_{k=0}^{n-r-1} \binom{n-r}{k} h_{n-k-r,\lambda}^{(\alpha)}(u) \cdot (x)_{k,\lambda}.$$

Observe that from (35),

$$t^r \left( \frac{1-u}{e_\lambda(t)-u} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^\infty B_{n,\lambda}^{(r,\alpha)}(x|u) \frac{t^n}{n!}.$$

For  $u = -1$ , we get

$$(45) \quad t^r \left( \frac{1-u}{e_\lambda(t)-u} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^\infty B_{n,\lambda}^{(r,\alpha)}(x|-1) \frac{t^n}{n!}.$$

And

$$\begin{aligned} \sum_{n=0}^\infty \mathcal{E}_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!} &= \left( \frac{2}{e_\lambda(t)+1} \right)^\alpha e_\lambda^x(t) = \frac{1}{t^r} \sum_{n=0}^\infty B_{n,\lambda}^{(r,\alpha)}(x|-1) \frac{t^n}{n!} \\ &= \sum_{n=0}^\infty B_{n,\lambda}^{(r,\alpha)}(x|-1) \frac{t^{n-r}}{n!} = \sum_{n=0}^\infty B_{n+r,\lambda}^{(r,\alpha)}(x|-1) \frac{t^n}{(n+r)!} \\ &= \sum_{n=0}^\infty B_{n+r}^{(r,\alpha)}(x|-1) (n+r)_r \frac{t^n}{n!}. \end{aligned} \tag{46}$$

Comparing coefficient from the left and right sides of the last equality, we obtain

**Theorem 9.** For  $r \geq 0, r \in 1, \alpha \in \mathbb{C}$ , we have

$$B_{n+r}^{(r,\alpha)}(x|-1) = \frac{1}{(n+r)_r} \mathcal{E}_{n,\lambda}^{(\alpha)}(x).$$

In particular, for  $x = 0$ , we enclose

$$(47) \quad B_{n+r,\alpha}^{(r,\alpha)}(0|-1) = \frac{1}{(n+r)_r} \mathcal{E}_{n,\lambda}^{(\alpha)}.$$

In [12, (Theorem 2.6)], it was obtained the equality

$$(48) \quad \varepsilon_{n,\lambda}^{(\alpha)} = \sum_{k=1}^n (-\alpha)_k \left(\frac{1}{2}\right)^k S_{2,\lambda}(n,k)$$

Therefore,

$$(49) \quad \begin{aligned} B_{n+r,\lambda}^{(r,\alpha)}(0| -1) &= \frac{1}{(n+r)_r} \varepsilon_{n,\lambda}^{(\alpha)} = \frac{1}{(n+r)_r} \sum_{k=1}^n (-\alpha)_k \left(\frac{1}{2}\right)^k S_{2,\lambda}(n,k) \\ &= \sum_{k=1}^n (-\alpha)_k \left(\frac{1}{2}\right)^k S_{2,\lambda}(n,k) \frac{1}{(n+r)_r}. \end{aligned}$$

### 3. CONCLUSION

In recent years, various degenerate versions of many special numbers and polynomials have been explored by using different methods as aforementioned in the introduction. In this paper, we studied the generalized degenerate Frobenius-Euler-Genocchi polynomials as a degenerate version of the introduced Frobenius-Genocchi polynomials. In addition, we introduced their higher-order version, namely the generalized degenerate Frobenius-Euler-Genocchi polynomials of order  $\alpha$ , as a degenerate version of Frobenius-Euler  $r$ -Genocchi polynomials in order  $\alpha$ . Then we studied certain properties and identities involving these polynomials, the generalized falling factorials, the degenerate Euler polynomials of order  $\alpha$  and degenerate Stirling numbers of the second kind. It is one of our future projects to continue to study various degenerate versions of some special numbers and polynomials and to find their applications to physics, science and engineering as well as to mathematics.

### Acknowledgments

This paper is supported by Research Fund of Kwangwoon University in 2023.

### REFERENCES

- [1] Araci, S.; Acikgoz, M. *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 3, 399-406.
- [2] Belbachir, H.; Hadj-Brahim, S. *Some explicit formulas for Euler-Genocchi polynomials*. *Integers*, 2019;19:Article ID.A28, 14 pp.
- [3] Cangül, İ. N.; Simsek, Y. *A note on interpolation functions of the Frobenius-Euler numbers*, Appli. Math. Technical and natural sciences, 59–67, AIP Conf. Proc., 1301, Amer. Inst. Phys., Melville, NY, 2010.
- [4] Carlitz, L. *Recurrences for the Bernoulli and Euler numbers*, J. Reine Angew. Math. **214(215)** (1964), 184-191.
- [5] Carlitz, L. *Some unusual congruences for the Bernoulli and Genocchi numbers*, Duke Math. J. **35** (1968), 563-566.
- [6] Comtet, L. *Advanced combinatorics. The art of finite and infinite expansions*, Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, (1974), ISBN: 90-277-0441-4.
- [7] Goubi M. *On a generalized family of Euler-Genocchi polynomials*, *Integers*. 2021;21: Article ID A48, 13 pp.
- [8] Kim, T.; Kim, D. S. *Representation by degenerate Frobenius-Euler polynomials*, Georgian Mat h. J. **29** (2022), no. 5, 741–754.
- [9] Kim, T.; Kim, D. S. *An identity of symmetry for the degenerate Frobenius-Euler polynomials*, Math. Slovaca. **68** (2018), no. 1, 239–243.
- [10] Kim, T.; Kim, D. S.; Kwon, H.-I.; Seo, J.-J. *Some identities for degenerate Frobenius-Euler numbers arising from nonlinear differential equations*, Ital. J. Pure Appl. Math. **36** (2016), 843–850.
- [11] Kim, T.; Kwon, H.-I.; Seo, J. J. *Some identities of degenerate Frobenius-Euler polynomials and numbers*, Proc. Jangjeon Math. Soc. oc. **19** (2016), no. 1, 157-163.

- [12] Kim, T.; Kim, D. S.; Kim, H. K. *n generalized degenerate Euler–Genocchi polynomials*, Appl. Math. Sci. Eng. **31** (2023), no. 1, 2159958, 15 pp
- [13] Kim, T.; Kim, D. S. *Some identities on degenerate hyperharmonic numbers*, Georgian Math. J. (2022), aop. <https://doi.org/10.1515/gmj-2022-2203>
- [14] Kim, T.; Kim, D. S. *Some identities on degenerate r-stirling numbers via boson operators*, Russian J. Math. Phys. **29** (2022), no. 4, 508–517 .
- [15] Kim, T.; Kim, D. S. *Degenerate Whitney numbers of first and second kind of Dowling lattices*, Russ. J. Math. Phys. **29** (2022), no. 3, 358–377.
- [16] Kurt, B. *A note on the Apostol type q-Frobenius-Euler polynomials and generalizations of the Srivastava-Pinter addition theorems*, Filomat **30** (2016), no. 1, 65–72.
- [17] Kwon, J.; Park, J.-W.; Yun, S. J. *note on degenerate generalized q-Genocchi polynomials*, J. Comput. Anal. Appl. **22** (2017), no. 5, 923–928.
- [18] Roman, S. *The umbral calculus*, Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, (1984), ISBN: 0-12-594380-6
- [19] Shiratani, K.; Yamamoto, S. *On a p-adic interpolation function for the Euler numbers and its derivatives*, Mem. Fac. Sci. Kyushu Univ. Ser. A **39** (1985), no. 1, 113–125

GLOCAL EDUCATION CENTER, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA; SCHOOL OF MATHEMATICS AND COMPUTER TECHNOLOGIES, FAR EASTERN FEDERAL UNIVERSITY, VLADIVOSTOK, RUSSIA.

*Email address:* [dolgii.dmitrii1964@gmail.com](mailto:dolgii.dmitrii1964@gmail.com) (corresponding author)

DEPARTMENT OF APPLIED MATHEMATICS, KYUNG HEE UNIVERSITY, SEOUL 02447, REPUBLIC OF KOREA

*Email address:* [wjookim@khu.ac.kr](mailto:wjookim@khu.ac.kr)

DEPARTMENT OF APPLIED MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*Email address:* [luciasconstant@kw.ac.kr](mailto:luciasconstant@kw.ac.kr)